

Invoice No 439053 **Date** 5/29/2025

Page 1 of 4

Tritech Software Systems, a CentralSquare Company 1000 Business Center Drive Lake Mary, FL 32746

Billing Inquiries: Accounts.Receivable@centralsquare.com

Bill To Hall County, GA Amanda Letson P.O. Drawer 1435 Gainesville GA 30503 United States Ship To

Hall County 911, GA

Hall County 911 Central Communications

Amanda Letson P.O. Drawer 1435 Gainesville GA 30503

United States

Customer No	Customer Name	Customer PO #	Currency	Due Date
12915	Hall County 911, GA		USD	6/30/2025

Invoice Sequence Number 1 of 1

	Description	Units	Rate	Extended	
Quote No. Q-210252					
1	IQ CrimeView Advanced Reports Annual Subscription Fee - Annual Subscription Fee IQ CrimeView Advanced Reports Annual Subscription Fee Maintenance: Start:7/1/2025, End: 6/30/2026	1	8,690.87	8,690.87	
2	Escrow Fee - Annual Subscription Fee	1	950.00	950.00	
	Maintenance: Start:7/1/2025, End: 6/30/2026				
3	Field Ops - Fire/EMS Annual Subscription Fee - Annual Subscription Fee Field Ops - Fire/EMS Maintenance: Start:7/1/2025, End: 6/30/2026	5	173.25	866.25	
4	Inform CAD Caller Location Query Subscription Annual Subscri - Annual Subscription Fee Inform CAD Caller Location Query Subscription Annual Subscription Fee Maintenance: Start:7/1/2025, End: 6/30/2026	1	3,274.43	3,274.43	
5	Inform Mobile Server Software Annual Maintenance Fee - Annual Maintenance Fee Enterprise Mobile Server Software (D - 251-500 Positions) Maintenance: Start:7/1/2025, End: 6/30/2026	1	23,641.71	23,641.71	
6	Inform Mobile Mapping Annual Maintenance Fee - Annual Maintenance Fee Inform Mobile Mapping Software Maintenance: Start:7/1/2025, End: 6/30/2026	5	70.05	350.24	
7	Inform Mobile Base Position Annual Maintenance Fee - Annual Maintenance Fee Inform Mobile Base Position Annual Maintenance Fee Maintenance: Start:7/1/2025, End: 6/30/2026	2	165.49	330.98	
8	Inform Mobile Test or Training System Annual Maintenance Fee - Annual Maintenance Fee Inform Mobile Test or Training System Annual Maintenance Fee Maintenance: Start:7/1/2025, End: 6/30/2026	1	3,247.72	3,247.72	



Invoice No 439053 **Date** 5/29/2025

Page 2 of 4

Tritech Software Systems, a CentralSquare Company 1000 Business Center Drive Lake Mary, FL 32746

Billing Inquiries: Accounts.Receivable@centralsquare.com

Bill To Hall County, GA Amanda Letson P.O. Drawer 1435 Gainesville GA 30503 United States

Customer Name

Ship To

Hall County 911, GA

Hall County 911 Central Communications

Amanda Letson P.O. Drawer 1435 Gainesville GA 30503 United States

Customer PO # Currency Due Date

12915 Hall County 911, GA USD 6/30/2025

Invoice Sequence Number 1 of 1

Customer No

	Description	Units	Rate	Extended
9	Inform Mobile Base Position with CJIS/NCIC Forms Annual Main - Annual Maintenance Fee Inform Mobile Base Position with CJIS/NCIC Forms Annual Maintenance Fee Maintenance: Start:7/1/2025, End: 6/30/2026	2	781.50	1,563.00
10	Inform Mobile Mapping Test or Training Annual Maintenance Fe - Annual Maintenance Fee Inform Mobile Mapping Test or Training Annual Maintenance Fee Maintenance: Start:7/1/2025, End: 6/30/2026	1	73.56	73.56
11	Std Inform CAD to External System Incident Data Transfer Int - Annual Maintenance Fee Standard Inform CAD to External System Incident Data Transfer Interface Maintenance: Start:7/1/2025, End: 6/30/2026	4	4,728.34	18,913.35
12	Inform CAD API - Customer Annual Maintenance Fee - Annual Maintenance Fee Inform CAD API - Customer Annual Maintenance Fee Maintenance: Start:7/1/2025, End: 6/30/2026	1	1,576.11	1,576.11
13	Enterprise CAD Situational Awareness Manager (SAM) Annual Maintenance Fee - Annual Maintenance Fee Enterprise CAD Browser (A - 1-40 Concurrent Users) Maintenance: Start:7/1/2025, End: 6/30/2026	1	3,152.23	3,152.23
14	Inform CAD Mapping Annual Maintenance Fee - Annual Maintenance Fee Enterprise CAD Mapping Maintenance: Start:7/1/2025, End: 6/30/2026	20	175.12	3,502.47
15	Inform CAD Position Annual Maintenance Fee - Annual Maintenance Fee Inform CAD Position Maintenance: Start:7/1/2025, End: 6/30/2026	20	3,152.23	63,044.54
16	Inform CAD Server Software Annual Maintenance Fee - Annual Maintenance Fee Enterprise CAD Server Software (B - 6-20 Positions) Maintenance: Start:7/1/2025, End: 6/30/2026	1	9,456.67	9,456.67



Invoice No 439053 **Date** 5/29/2025

Page 3 of 4

Tritech Software Systems, a CentralSquare Company 1000 Business Center Drive Lake Mary, FL 32746

Billing Inquiries: Accounts.Receivable@centralsquare.com

Bill To Hall County, GA Amanda Letson P.O. Drawer 1435 Gainesville GA 30503

United States

Hall County 911 Central Communications Amanda Letson

Hall County 911, GA

P.O. Drawer 1435
Gainesville GA 30503

United States

Ship To

Customer NoCustomer NameCustomer PO #CurrencyDue Date12915Hall County 911, GAUSD6/30/2025

Invoice Sequence Number 1 of 1

	Description	Units	Rate	Extended
17	Standard EMD Integration Annual Maintenance Fee - Annual Maintenance Fee Inform CAD Standard EMD Integration Maintenance: Start:7/1/2025, End: 6/30/2026	20	157.61	3,152.23
18	Inform CAD the Archive Server Software Annual Maintenance Fe - Annual Maintenance Fee Inform CAD the Archive Server Software Annual Maintenance Fee Maintenance: Start:7/1/2025, End: 6/30/2026	1	875.63	875.63
19	Inform CAD The GISLink Utility Position Annual Maintenance F - Annual Maintenance Fee Inform CAD The GISLink Utility Position Annual Maintenance Fee Maintenance: Start:7/1/2025, End: 6/30/2026	1	1,400.99	1,400.99
20	Standard Alpha Numeric Paging Interface Annual Maintenance F - Annual Maintenance Fee Inform CAD Standard Alpha Numeric Paging Interface Maintenance: Start:7/1/2025, End: 6/30/2026	1	2,837.00	2,837.00
21	NCIC/State Message Switch Server Software - Inform RMS Annua - Annual Maintenance Fee NCIC/State Message Switch Software - Inform CAD/Inform Mobile Maintenance: Start:7/1/2025, End: 6/30/2026	1	15,761.14	15,761.14
22	NCIC/State Query Position for Inform CAD Annual Maintenance - Annual Maintenance Fee NCIC/State Query Position for Inform CAD Maintenance: Start:7/1/2025, End: 6/30/2026	20	157.61	3,152.23
23	Standard ANI/ALI Interface Annual Maintenance Fee - Annual Maintenance Fee Standard ANI/ALI Interface Maintenance: Start:7/1/2025, End: 6/30/2026	1	2,837.00	2,837.00
24	Inform CAD Mapping Test or Training Annual Maintenance Fee - Annual Maintenance Fee Inform CAD Mapping Test or Training Annual Maintenance Fee Maintenance: Start:7/1/2025, End: 6/30/2026	1	189.42	189.42



Invoice No 439053

Date 5/29/2025 Page 4 of 4

Tritech Software Systems, a CentralSquare Company 1000 Business Center Drive Lake Mary, FL 32746

Billing Inquiries: Accounts.Receivable@centralsquare.com

Bill To Hall County, GA Amanda Letson P.O. Drawer 1435 Gainesville GA 30503 **United States**

Ship To

Hall County 911, GA

Hall County 911 Central Communications

Amanda Letson P.O. Drawer 1435 Gainesville GA 30503

United States

Customer No	Customer Name	Customer PO #	Currency	Due Date
12915	Hall County 911, GA		USD	6/30/2025

Invoice Sequence Number 1 of 1

	Description	Units	Rate	Extended
25	Inform CAD Test or Training System Annual Maintenance Fee - Annual Maintenance Fee Inform CAD Test or Training System Annual Maintenance Fee Maintenance: Start:7/1/2025, End: 6/30/2026	1	2,761.77	2,761.77

Please include invoice number(s) on your remittance advice.	Subtotal	175,601.54
ACH: Routing Number 121000259	Тах	0.00
Routing Number 121000358 Account Number 1416612641 E-mail payment details to: Accounts.Receivable@CentralSquare.com	Invoice Total	175,601.54
Check:	Payments Applied	0.00
12709 Collection Center Drive		

Chicago, IL 60693 **Balance Due** USD 175,601.54